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Group-A 

                                        Answer any one question from the following:                          10X1= 10 
 

1. Discuss the growth of population in India in light of Demographic transition model. 

Differentiate between population study and Demography. What is NSSO?              6+3+1    

2.  Define settlement. What is the difference between rural and urban settlement? Describe 

the various site factors of rural settlement. 2+3+5                                                                                      

Group –B 

                         Answer any three questions from the following:                          5X3 = 15 

  

3. Briefly discuss the determinants of fertility in India. What is MMR?       4+1 

4. Briefly explain the population problems in India. What is Second Demographic 

Transition?               4+1 

5. What were the main objectives of National Population Policy 2000 (NPP-2000)? Justify 

the need for a New Population Policy in contemporary India.                                       2+3 

6. Define settlement morphology with reference to rural settlement pattern in India.     5 

7.  Briefly describe the urban structure mentioned by EW Burges highlighting the process of 

their development.              5 

8. What is rural urban fringe? Describe the basic characteristics of it.      2+3        

 

Link for answer script submission: https://forms.gle/2mLcJUDoyp6CsPbK7 


